510 KoM Kk oE TR ¥ IR No. 1
2007 4¢3 /1 HYDRO-SCIENCE AND ENGINEERING Mar. 2007

oI B3 BN 2 24 38 S P 28 5% W 1 353 07 92 9 sk
L F
PR O AR =B, 1P 1230 044004 )

FEE . (A28 T IR SRR B U3 S FH 26 Wi A3 SR 307 k. PRAIAGR T e 3 S it 0
PLAaR W R IPC Il 8ia g g R WD AT AP S Nl @i R e R N T N

X # W soHaskm, S, ok OB R
hES RS, TV314 XikERIRES: B XEHS: 1009-640X (2007 )01-0070-04

Improvement of calculation method for practical and economical
cross-section of the trapezoidal channel with an arc slope angle

XU Wen-xiu

(Shanxi Vocational College of Water Resources, Yuncheng 044004, China)

Abstract: The formulas and calculation method for the practical and economial cross-section of the trapezoidal
channel with an arc slope angle are briefly presented. The derivation process of the formulas and calculation method

is described in detail. Verification results of the improved formulas show that the formulas are simple and feasible.
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Fig.1 Sketch of a trapezoidal channel with an arc slope angle
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F1 MEEHBERELAZFNE H/H, THEER

Tab.1 Calculation results of H/H, for the trapezoidal channel with an arc slope angle

ol 1.01 1.02 1.03 1.04 1.05

H/H, 0.823 0.761 0.717 0.683 0.654

3.2 K, itEXHIE
PR A R E AR H/H, B K, W2, ML K, =0.8,a=1.01 M, 54 53 E 1 B
H, X K, 855 53 2 56 2R, X RPN 5 2] 7 A B 5E.
x2 IMEEHHERREELALFM®E H/H, R K, ITEER

Tab.2 Calculation results of H/H,, and K, for the trapezoidal channel with an arc slope angle

K, a m M N H/H, K,
0.50 3.225 1.406 1.000
1.00 3.574 1.635 1.032
1.25 3.852 1.794 1.080

0.8 1.01 0.823
1.50 4.177 1.973 1. 144
1.75 4.539 2.167 1.220
2.00 4.928 2.372 1.305
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BRI B LR R 50 m /s, INRJE AT 60 m’/s. SR HTREE 1= WA Jin 10 59 A3 4+ 1.
IR BRI W, SRS r=4.0 m, TR A BN B0 6/2=33.69°(0=1.176 rad) , Wi
VRS b=8 m, 1 m=1: 1.5, BN i=1/917 ~1/365, /KK H=1.98 ~2.56 m, jii# V=1.66 ~
2.29 m/s.
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